‘Check-up...

Simplify each of the following...
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What about binomial denominators??
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Conjugates Many rational quotients have a sum or

difference of terms in a denominator, rather

Q—_‘ = q{:\\\l than a single radical.

/e In that case, we need to multiply by the
3+ "f =>\E_y conjugate of the numerator or denominator
A (which ever one we are rationalizing).

6 — '[i ?-7&*": The conjugate uses the same terms, but the

opposite operation (+ or —).

(x-) (e D)=x- 17
Examples of conjugates...
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Homework...
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#9, 10,11, 12, 13, 14, 17, 23
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Attachments

Q Worksheet - DeMoivres Theorem.doc
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5. (a) Evaluate ™

(b) Convert each number in part (a) to polar form, then convert the
result to polar form,

() Examine the rumbers in part (b). Explain how to evaluate any
expression involving both multiplication and division of complux
numbers in polar form.

(d) Did you prefer to evaluate the expression in part (a) in
rectangular form or in polar form? Explain.

Check Your N
Understanding
Q {4+ 4if1 - o)
6. Danielle and Marcos evaluated ~—— =

20V/3 — 20i, Solve their problem using complex numbers in polar
form by following these steps.

(@) Convert each umber in the expression fo polar form.
(b) Find the solution using complex numbers in polar form.

() Convert your answer to rectangular form. Did you get the san:
answer as Danielle and Marcos?

IR
7- Bvaluate 53730 15 ] by following these steps
() Convert each number in the expression to polar form.
(b) Find the solution using complex numbers in polar form.

(c) Convert your answer to rectangular form. Compare it to the
answer obtained by evaluating the original expression in

rectangular form: —-£-(V3 +

8 Evaluste T35

1] by completing the following steps.
(@) Evaluate the expression in rectangular form.

(b) Convert each number in the expression to polar form

(€) Eind thie solution using complex numbers in polar form,

(d) Convert your answer from part (c) to rectangular form. Did you
get the same answer as in part (a)?
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